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Find the slope between: 

(2, 7) and (-4, 4) 
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B 

 
Find the slope between: 

(2, 0) and (-4, 8) 
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C 

 
Find the slope between: 

(36, -5) and (37, -3) 
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D 

 
Find the slope between: 

(-2, -4) and (-9, 1) 
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E 

 
Find the slope between: 

(6, 11) and (6, 8) 

 

 

 

 

 

 

5

3
 



F 

 
Find the slope of the points in the table: 

x 0 1 2 3 4 

y -9 -6 -3 0 3 
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G 

 
Find the slope of the points in the table: 

x 0 3 6 9 12 

y 27 21 15 9 3 
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H 

 
Find the slope between: 

(8, -5) and (38, -5) 
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I 

 
Find the slope between: 

(7, -7) and (-7, 7) 
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J 

 
Find the slope between: 

(-28, 6) and (-29, 9) 
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K 

 
Find the slope between: 

(-6, -2) and (5, 4) 
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L 

 
Find the slope between: 

(1, 23) and (-8, 8) 
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M 

 
Find the slope between: 

(0, 0) and (3, 7) 
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N 

 
Find the slope between: 

(47, -3) and (77, 9) 
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